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S Al OFZHEZZAIE 2tel 551,823 516,823 35,000
OF2td 2tH & 551,823 516,823 35,000
2s & EoE &5 ¥ A2 FH| 116,100 81,100 35,000
401 AIEHI L 20 116,100 81,100 35,000
01 A€ HI 116,100 81,100 35,000
OL=z=2< Jtgs= uA 3,500,000& *10= 35,000 0 35,000
SMEA =M 663,915 644,115 19,800
= 7,131 7,131 0
Xl 50,000 50,000 0
Al 67,142 52,142 15,000
T 539,642 534,842 4,800
=X0 =3 2 2e 663,915 644,115 19,800
= 7,131 7,131 0
X 50,000 50,000 0
Al 67,142 52,142 15,000
T 539,642 534,842 4,800
Zo7e & 22 24 164,297 169,497 4,800
401 AIEHIZL 20 30,000 25,200 4,800
01 A& HI 30,000 25,200 4,800
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3,200, 0002 3,200 0 3,200

2 3,200 0 3,200

cEMBE 6,970 *1,0007H 6,970 0 6,970

Al 6,970 0 6,970
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P09 OIFE MEBRH 174,713 174,213 500

2 4,266 4,266 0

Al 13,632 13,132 500
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Al 500 0 500

01 AFR 22l 500 0 500

Oxtg Yxt 65,0002 *1CH 165 0 165

Al 165 0 165
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